CNALTRE SRA7 44 11 B )

1 A& % 30 =

RS B AL
AHLBTH#

2 AFLHHK SERS2TAH LA 9 H #UT

3 4 o P Y xR AL AT R R L

MLBFR A A

ERIEaLNE

TR #ep HIfR
EYERE mTh R

S TS T
E I 5 1R AKL 5208 AL R
(R = R A 4,000,000 M (32058
oo — B SR 3T 8,930,000 M EE31ES
T T30 3,200,000 2,650,000 M
SES PN 2,800,000 M 2,800,000 M
S0 48 (HEBLIAA)




CNALTRE SRA7 44 11 B )

R4 B AL
1 AKLES  #® 31 B ALBETH  EEITEITR 20 IR
2 MLAEF  SPHR2TAELA9H BT ALBIRER  BHMBE mh Es

3 4 5215 K 5No.1 - 35088 i A oA BT T3

A i 1lE AL F2m AfL wOR
(B~ T 9,100,000
Yk T 9,400,000
R — 2 —E A 9,350,000
CENNE Y 9,000,000 RE
(=5 LS

KA 9,720,000 M (EEFLIAA)




CNALTRE SRA7 44 11 B )

Al FRAE — s e A AL

1 A& % 93 & MLBUTHE WmEETRIT R a0 Ak
2 AFLHERF VRL2TAELA 9 H #AT MLBEREER  EM#RE W R
3 4 T TN — AN

il
(T BLIE) 3,600,000 F3
SR R -
(1 2oL )
£ # 4 AR 2K # R
=0 2,730,000 [ PeE
e 2,790,000

KA 2,948,400 H (HEBLIAH)




CNALTRE SRA7 44 11 B )

TS5 B — i AL

1 AHLE= % Ar1948 5 MLBUTHE WmEETRIT R 0 Ak
2 AFLHERF VRL2TAELA 9 H BT MLBEfREER  EM#RE mh R

3 4 NERRNIEBS KIS TR DR 5t

E I 5 1E AL GIIEN) R
EINENEE = =r 0 1,150,000 M RTE
CERREL B e S 3 S T 1,800,000
A R = o ST 1,300,000

KA 1,242,000 F ({HEBLIAHA)




CNALTRE SRA7 44 11 B )

S LI N

1 MLES 8 w195E & MNLBATH IR R 20 R
2 MLEFE  PRR2TAELA 9 HBUT AMLBREE  FMBRE M
31 4 WEEMRERKIETE
E I 5 1R AKL 5208 AL OB
() L 1 9,750,000 M
(4 e T 9,800,000 M
DIFIPNE s 9,500,000 M
LI AT R () 10,500,000 M
7INEF B 11,000,000 M
B T A 9,900,000 M
T R R ) 10,800,000 M
(EITE=S i) 8,640,000 M RE
) 9,331,200 M (HEBLAZ)




CNALTRE SRA7 44 11 B )

TS5 B — i AL

1 ALES & #1968 = MMLBUTE  WREITEITE fen BIfE
2 AKLEBEE  ERR274E1H9H BT ALBIRHE  SHHBE mh F
3 4% W5 A 2 s T
T A
(T BLE) 3,686,000
S G H1 R At A
(BBt )
¥ E 4 51 [\ AKL o E AKL R
AT TS 2,850,000
()R R R 2,650,000 M RIE
(/1)1 el 2,900,000
) ok 2,862,000 FH (HEBLIAH)




CNALTRE SRA7 44 11 B )

1 AFLEE ¥ OAT1977FE

TS5 B — i AL

=

=

2 AFLHHK SERS2TAH LA 9 H #UT

3 4 G~ ET NI BT TG UE T8

MLBITE  WEITRIETR 0 Rlfk
MLBEfREER  EM#RE mh R

E I 5 1IRUAAL 5 2[5 AL fi 2R
fite] FH 7% i L 2E R 2,700,000 M
AR — L —E R 2,750,000 H
(R HKE T 2,700,000 M
BE IR — AL —E X 2,600,000 M HIE

2,808,000 M (HEBLAA)




ML B4 BB
TR SR B AL

1 AFLE= % Ar198E & MLBUTHE WmEETRIT R 0 Ak
2 AFLHERF VRL2TAELA 9 H BT MLBEfREER  EM#RE mh R
3 4 HTIE A 572 5l Pk iE T

E I 5 1IRUAAL 5 2[5 AL fi 2R
fite] FH 7% i L 2E R 1,470,000 M
BIRZARR— L —E X 1,340,000 M HIE
N 1,500,000 M
() e fi T2 1,840,000 M
(R HKE T3 1,540,000 M
ElE IR — A —E X 1,600,000 M

KA 1,447,200 F ({HEBLIAA)




CNALTRE SRA7 44 11 B )

1 AFLE = ¥ 71997%E =
2 AFLHHK SERR2TAHLH 9 H BT

TS5 B — i AL

MLBITE  WEITRIETR 0 Rlfk
MLBEfREER  EM#RE mh R

3 4 [ L [ B 175 K R~ o AR — V% B Ik T

T A

(T BLE) 2,627,000

S G H1 R At A

(BBt )

¥ E 4 51 [\ AKL o E AKL R
() 1 T T 2,650,000 M 2,600,000 M HRIE
(K MR 2,700,000 M 2,620,000
(AR 2,680,000 2,620,000
) ok 2,808,000 F (HEBLIAH)




CNALTRE SRA7 44 11 B )

fim

H Ay

SR — i A AL

MLBITE  WEITRIETR 0 Rlfk

1 AFfLE = ¥ #2007 =
2 MLAE  ERR2TELA9HBUT ALBIRHE  SHHBE mh F
3 4% AL A iRy T

T EMkS

(T BLE) 2,093,000

S G H1 R At A

CEE- gk %))

¥ E 4 51 [\ AKL & 2[a] AAL R

(7K I A 2,090,000
(P2 R 2,050,000 M RIE

2,214,000 M (HEBLAA)




CNALTRE SRA7 44 11 B )

1 AFLE = ¥ 7201 &
2 AFLHHK SERR2TAHLH 9 H BT
3 4 (FH AT IE M= 35 1= 1 37 S fiah it T

TS5 B — i AL

MLBITE  WEITRIETR 0 Rlfk
MLBEfREER  EM#RE mh R

Tl

(T BLE) 2,952,000

R S IR

(K2 B )

% H 4 1B AL 52 AL G
A 3,000,000 4 2,870,000 I RE
bR 3,200,000 [ 2,920,000 4
b P 3,250,000 2,900,000 F4
46 3,099,600 M (HEBLIAA)




CNALTRE SRA7 44 11 B )

1 AFLE = ¥ 72027 &
2 AFLHHK SERR2TAHLH 9 H BT

fim

H A

SR — i A AL

MLBITE  WEITRIETR 0 Rlfk
MLBEfREER  EM#RE mh R

3 4 JEIOREEERT I S B R 1B T2

il
(T BLE) 2,407,000
SR R
(1 2oL )
£ # 4 AR 2K # R
KR 2,420,000 [| 2,380,000 [|  WE
NI 2,500,000 | 2,410,000

2,570,400 M (JHEBLAA)




